Read the problems and solve

There are 165 toys cars in a toy shop.
During the day, 23 of them were sold.
How many toy cars are still in the shop?

Out of 257 guests in a party. 126 had
coffee and the rest had cold drinks. How
many guests had cold drinks?

A shopkeeper received 345 copies of the
mathematics book. He sold 114 copies
on the first day. How many copies are still
with the shopkeeper.

A mango tree has 316 mangoes.
115 mangoes were eaten by monkey.
How many mangoes are left on the tree?

There are 648 students in the school.
347 of them are boys. How many girls
are there ?




